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MATEAR | BEMB | B ) BZE (%
B o 5 K E K HIRH | BRRE | ExpiE =t ‘ =2 ‘ %=
WPFN33.10.28 | 1 290 544 697 847 689 508 8 339 54.1 58.4 50.2
37.10.28 | 1 439 462 633 952 629 540 4 412 44,0 48.3 40.1
38. 4.17 | 1481367 1059 370 1000 391 58 979 71.5 72.6 70.6
42.4.15| 1790723 1122014 1054 094 67 920 62.7 62.0 63.3
ol o 1227 619 701 455 661 752 39 703 57.1 55.9 58.4
b e 563 104 420 559 392 342 28 217 T4.7 75.8 73.7
F 230 914 134 266 127 082 7 184 58.1 56.3 60.0
g F o 55 984 39 242 36 166 3076 70.1 70.6 69.7
moJIl T 143 259 82524 76 235 6 289 57.6 54.2 61.1
OB T 150 075 80 697 75 604 5093 53.8 51.1 56.6
g 1 5 36 275 29 103 27 603 1 500 80.2 79.2 81.1
CKE T 36 495 25 561 24 654 907 70.0 71.8 68.4
= 109 597 53 143 50 483 2 660 48.5 47.1 50.0
B OHE H 38 953 14 699 14 515 184 37.7 40.7 35.0
tOE W 29 564 18 897 18 076 821 63.9 68.0 60.4
k' T 29 272° 20 627 19 630 997 70.5 71.5 69.6
R E T 27 261 21 310 19 527 1783 78.2 78.6 77.8
= B 27859 16 874 15 888 986 60.6 61.4 59.8
W & T 20 571 9 300 9 191 109 45.2 48.4 42.5
JB, 7 19 553 15 483 14 054 1429 79.2 79.6 78.9
AT 21 354 7260 7170 90 34.0 39.8 29.0
I E 43 777 26122 24 735 1387 59.7 56.8 62.7
4 el 79 616 35 497 33 907 1 590 44.6 43,5 45.7
B oW 17 771 14 527 13 .368 1159 81.7 82.8 80.9
moR 57 744 36 163 33 919 2 244 62.6 60.4 65.0
WOl T 25 842 10 889 10 760 129 42.1 42.4 41.9
CATF AT 25 883 9 271 9 185 86 35.8 37.5 34.2
Z B Eb 77 527 66 169 61 966 4203 85.3 85.3 85.4
= B 44 505 31 964 29 872 2092 71.8 74.2 69.8
F oE K 78 304 61 802 57 661 4 141 78.9 80.2 771.7
E £ I 44 493 34 437 31 733 2704 77.4 79.4 75.7
i & 72 075 52 020 48 579 3 441 72.2 74.0 70.6
i OE R 16 764 10 548 10 421 127 62.9 66.3 60.0
OB A AR 67 310 44 983 41 828 3 155 66.8 66.0 67.7
B I 69 722 48 419 45 261 3158 69.4 71.7 67.4
& B A 66 672 53 576 49 445 4 131 80.4 82.0 78.9
5 | B 12 416 9 759 8 777 982 78.6 77.9 79.2
M 2 I 13 316 6 799 83 51.7 52.9 50.5
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